34   2                                 Додаток 1 
34   17      2                           КОДУВАННЯ

 0    16      8        2                       ІНФОРМАЦІЇ        
         1      8        4       2

                 0        4       2      2
                           0       2      1
                                    0
5   4    3    2   1   0
 1  0  0  0  1  0 = 1*25 +0*24+0*23+0*22+1*21+0*20=







   32+  0 + 0 + 0  + 2 + 0 = 34                         
     Розглянемо приклади кодування


           Наприклад, кирилична


     буква А має двійковий код 10000000, 


         а буква М – код 10001100. 


    Тоді слово МАМА в комп'ютері


        матиме представлення 


10001100 10000000 10001100 10000000








